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M. Com.—08

Cost and Management Accounting
(T UG Ue+ i)
Master of Commerce (M. Com.—10/16)
Second Year, Examination, 2018

Time : 3 Hours Max. Marks : 80

Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section-A / GVs—d
(Long Answer Type Questions) / (€78 IR T2

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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1. Explain briefly the terms ‘standard cost’ and ‘standard
costing’. Enumerate the advantages and limitations of

standard costing system.

A AN’ 3R TR AN fAf vl @ werg |
IRAT PGV | Y99 RTd Ay & ot oiiR men &

Ioolg BIFTT |

2. “Evolution of cost accountancy is the outcome of
deficiencies in financial accounting system.” Discuss

this statement.

“ANTT orgTe &1 fadr, foRi o/l yorel § Urg
S el BT BT UfBd 217 39 @ @ fadae

I |

3. From the following information, prepare a Process
Account, Abnormal Gain Account and Normal Loss

Account :

Input of raw material
Direct material

Direct wages
Overheads
Actual output
Normal loss

Value of scrap per unit

840 units @ T 40 per unit

35,924

¥ 8,000

¥ 8,000

750 units
15%

T 10 per unit

fertifehd aell & UfhaT @TaT, S oM @l

Tq M B QT 9918
Hed Al Bl AN
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PRI 35,924
e HolgNl % 8,000
SURary % 8,000
JRfdd TeH 750 SHhIsal
LRI IS 15%
8 el Ul Sd1g % 10 Ui 1S

4. Ram Prasad Ltd. manufactures 10000 units of product
‘A’ at a cost of sales of T 80 per unit and there is home
market for consuming the entire volume of production
at the selling price of ¥ 85 per unit. In the year 2016,
there is fall in the home market which can consume
10000 units only at a selling price of ¥ 74.40 per unit.

The analysis of cost of sales for 20000 units discloses :

3
Materials 3,00,000
Wages 2,20,000
Fixed overheads 1,60,000
Variables overheads 1,20,000

The foreign market is also explored and it is
ascertained that this market can consume 20000 units
of the product, if offered at a selling price of ¥ 71 per
unit. It is also discovered that for additional 10000
units of product, the fixed costs will increase by 10%.
Is it worthwhile to try for capturing the foreign
market ?
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M YIS fo. U R @1 10000 SHIEAT B T 80 U
$®l3 AT Id W ST el & 3R T 85 Ui
3PS 9P e W WU SARA @l Tud & fog
ge IR SUAEl ©| 9y 2016 H B AWK A
fRrge omft &, RS 10000 SHFAT B WUT T 74.40
i 318 g 47 W & 8 9o ¢ |

10000 SHAT & forg fashg aFd & fawerwor & oy

AT € -
4
BILpI 3,00,000
G 2,20,000
ReR IuReqy 1,60,000
BIRERENIGASEIRED| 1,20,000

fagel aoR @1 ff @ @ W &R I uar 9o o
39 9OIR H 20000 SHISAT B WUT & A &, IS
3 71 U S1g fA9d Hod W W WRAIdd B S|
I8 A Ul el fob 9% D1 AN 10000 SHEA B
fory ReR &g 10% ¥ 98 SRV | &1 facsh aoR @
Udhed @ folu PIRTET AMyE 8 7
Section-B / ve—Yg
(Short Answer Type Questions) / (T ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type
questions of eight (08) marks each. Learners are
required to answer four (04) questions only.
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dlc: Tue ‘@ H e (08) Y SN U ¥ W B
TAG Y b faU M (08) ofp fwiRd
IRl a1 37 ¥ dadt 9R (04) WAl & IR o
gl

1. Describe the various methods of costing indicating the

industries to which they are applicable.

AN ol Bl A= gonferd @1 e H quiE By
AT S SN $T Seord DIY FoFTH STdT AR o
T 2 |

2. Differentiate between normal and abnormal wastage of
materials and explain their treatment in cost accounts.

A @AM afd T MY afd § 3R difoly

AT AT ofvdl o gdl SUYIR ddlsy |

3. Distinguish between direct and indirect labour. Give
examples of each.

U] dUT M SM ¥ SRR BIY| UAd B

SR IR |

4. What is the difference between selling overheads and
distribution overheads ? Give three examples of each.

fama SuRery dur faoryr SuRerl & @1 oy § 2
U B oiF IeTExY I |

5. “Job costing is more accurate than process costing.”
Comment.

“Iyprl ANT A ufshar dma ol | aile uieE
& |7 fae By |
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6. What are the essentials of an effective budgetary
control system ?

UG UM gofed] AT UUilell @ Maed dd @l
g7

7. What do you understand by ‘zero based budgeting’ ?
How does it differ from traditional budgeting ?
SR AMR e W AU U G 8 ¢ TS
RERETT qofed ¥ e JoR = 8 ?

8. Explain clearly as how is cost accounting helpful in
decision-making.

Wed: g9y b dFd oied (ol o § e
UHR TEd ¢ |
Section-C / YUs—TT

(Objective Type Questions) / (A&ITS )

Note : Section ‘C’ contains ten (10) objective type
questions of one (01) mark each. All the questions
of this Section are compulsory.

dlc ;. @Ue T H 9 (10) TS W @ W 2| U@
g & fov e (01) oid FEiRd 21 39 wve @
o oo afard € |

Write True/False against the following :
fy=forRad & e 9 /3y forfau -

1. Main objective of cost accounting is to determine

income. (True/False)
AT ol & T Ieed 3 (R0 32 7 |

GRVELR)
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2. Bin Card is prepared by Cost Accounting Department.

(True/False)
fS TS AN oram famT g1 QO fohar e &
GRVAHR)
3. High labour turnover rate denotes good human
relations. (True/False)
ST D ST U 37D HAIA e T § |
GRVASR)
4. At break-even point, fixed cost is equal to contribution.
(True/False)
- g W, W dFd SRIEH & SRR Bl
2 GRVERRY)
5. Master budget is a summary of all functional budgets.
(True/False)
AR qole T FrafcHd qorel BT AR B € |
GRVARR)
Fill in the blanks :
R w3 Y BT
6. Main object of cost accounting is ........... on Costs.
AT OEThT Bl 999 3y offd WX PRl
BT B |
7. Sunk cost arises due to ........... to machine.

A51P.T.O.

http://www.uouonline.com


http://www.uouonline.com
http://www.uouonline.com

http://www.uouonline.com

[8] S-677
8. LIFO is not a suitable method when price is ......... in
the market.
Sg 9Ok H Wg W) & d !l (LIFO) Tgfd
SUY T 7 |
9. Allocation of overheads over various cost units is
called .............
SURT BT faf=T oTd Shrsal § dfear SuRedl &
""""""""" BTN & |
10. When actual loss is ............. than the estimated loss,

that is called abnormal gain.

SERCISICCARSIE A GG S A Ear §
I8 SMII oW HEelldl 2 |
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